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— Troubleshooting

NOTE: The numbers in the table show the troubleshooting sequence.
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Symptom
G401
Power door lock system 1 2 1 G402 | ORN
doesn’t operate at all. G403
, G401
Doors don’t lock Both 1 2 | G402 | WHT/YEL or GRN/WHT?2
or unlock with the doors G403
driver’stloor lock
switch. One 1 2 3 WHT/RED or YEL/RED
door
D don’t lock Both G401
oors don't loc ot 1 | 2 | G402 | BLK/RED or BLK/WHT
or unlock with the doors G403
passenger’s door
lock switch. One 1 2 3 WHT/RED or YEL/RED
door
, G401
Doors don’t lock | Both 1 2 | G402 | BLU/WHT or BLU/RED’
or unlock with the doors G403
driver’s door lock
knob. One 1 2 3 WHT/RED or YEL/RED
door
Doors will lock when the G401
key is still in the ignition 11213 4 | Gao2 GRN/RED,
switch and driver’s door is G403 BLU/GRN or GRN/BLU
open.
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